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1 The procedures for marking will consist of: 

(a) Careful reading and analysis of all answers. 
(b) Allocation of marks to the components according to the agreed 

scheme. 
(c) Addition of the marks with attention to: 

(i) maximum per section. 
(ii) maximum per question.                                                                                              

2 Components 
(a) Facts 

  (i) Identification of visually prepared data. 
  (ii) Stating facts. 

(b) Significant Relevant Statements (SRS) 
(i) A fact, aspect or phase of the topic. 
(ii) An explanation of a term or concept relevant to the topic. 
(iii) A valid interpretation, comment, opinion, judgement relevant 
to the topic. 
(iv) 2/3 tentative statements of fact etc. 
(v) An important cause/effect. 
(vi) Valid introductory material. 
 

  
3 Marking 

(a) Starting from the beginning of the answer, tick clearly thus (/) each 
fact or SRS. 

(b) The Cumulative Mark 
  Award the marks agreed on the marking scheme to each fact or  
  SRS. 
(c) Total the marks awarded to each part of the question in the margin 

 thus > before marking the remainder. Put in the grand total for the  
 question number in the L.H. margin. 

(d) Read all the questions even the excess, repeated or cancelled.  The 
answer gaining most marks is accepted within the rubrics of the 
examination paper. 

(e) After each question is marked and totaled add marks to the previous 
question in a box at the bottom of the page and this is a check to 
ensure the marks on the front cover are totaled correctly at the end. 



 
 
 
 
 
QUESTION 1       (24 marks) 
 

(A) MULTIPLE CHOICE QUESTIONS – 12 from the following: 
 
1  (a) ringforts 
2  (b) monks 
3 (d) Garda Station 
4 (b) dragon ship 
5 (a) water 
6 (b) England 
7 (b) steam 
8 (b) factories 
9 (a) detached 
10 (a) degrees 
11 (d) huge tidal wave 
12 (b) Greece 
13 (c) immigrants 
14 (c) or (d) castles      (1x12) = 12m 
 
 
 
(B) ANCIENT WORLDS     (6 marks) 
 
Two relevant statements on one of the topics 
from one of the civilisations.     (3+3) = 6m 
 
 
 
(C) IRISH MONASTERIES      (6 marks) 
 
1 (a) round tower/tower = 1m       
 (b) church/praying = 1m     (1+1) = 2m 
 
2 One relevant point e.g. protection/hiding/ 
 storing valuables/look-out tower/belfry/ 
 etc.        2m 
 
3 Two items e.g. gold/silver/chalices/crosses/ 
 manuscripts/jewellery/food/ 
 jewellery/etc.       (1+1) =2m  
            



  
 
 
 
 
 
QUESTION 2       (24 marks) 
 
(A) PLANTATION IN 17TH CENTURY IRELAND  (24 marks) 
 
1 One valid explanation e.g. yard/with stone  
 wall around yard/etc.      3m 
 
2 England/Britain      3m 
 
3 Baptist James Esq.      4m 
 
4 Two valid reasons e.g. English wanted to take  
 control/take over lands/ English rule/ custom/etc.     
         (3+3) = 6m 
 
5 Two valid statements from before/during/after.  (4+4) = 8m 
 
 
 
 
0R 
 
 
 
(B) BRAZIL IN THE 20TH CENTURY   (24 marks) 
 
1 Sao Paulo       1m 
 
2 One valid explanation e.g. countryside/ 
 country/farm/etc.      2m 
 
3 One pull factor from jobs/to make money/etc.  2m 
 
4 One push factor from no jobs/no money/etc.   2m 
 
5 Close to centre of city/very nice houses.   2m 
 
6 Two valid problems.      (2+1) = 3m 
 
7 No = 1m 



 One valid reason = 1m     2m 
 
8 No money/self-help/to improve their houses/ 
 poverty/etc.       2m 
 
9 One valid problem.      1m 
 
10 One valid problem.   `   1m 
 
11 One valid reason.      3m 
 
12 Yes = 1m Reason = 2m/ 
 No = 1m Reason = 2m/Reason = 3m    (1+2) =3m 
 
 
 
 
QUESTION 3       (24 marks) 
 
(A) THE INDUSTRIAL REVOLUTION   (12 marks) 
 
1 Bryant May match factory/match/Bryant/ 
 May        1m 
 
2 14        1m 
 
3 No = 1m 
 One valid explanation = 1m/ 
       Reason with ‘no’ implied = 2m    (1+1) = 2m 
 
4 No = 1m 
 One valid explanation  = 1m/ 
 Reason with ‘no’ implied = 2m    (1+1) = 2m 
 
5 Forced the workers to sign a statement 
 that they were happy with their working conditions/ 
 forced the workers to sign a statement.   1m 
 
6 1400 women.       1m 
 
7 3 weeks.       1m 
 
8 One valid explanation e.g.workers/looking for 
 better pay/better conditions/etc.    2m 
 
9 SIPTU/C       1m 



 
 
 
 
 
 
 
 
 
(B) WORLD WAR I      (12 marks) 
 
1 Arthur Empey       1m 
 
2 1917        1m 
 
3 Yes = 1m 
 One valid reason = 2m/ 
 Reason with ‘yes’implied. 
 (must have some kind of reference  
 to the trenches.) = 3m      (1+2) = 3m 
 
4 Smoke helmet/vile-smelling thing/helmet.   1m 
 
5 Two relevant statements.     (3+3) = 6m 
 
 
 
OR 
 
 
 
(C) WORLD WAR II      (12marks) 
 
1 One point from: to make sure no light was showing/ 
 as this might help German planes see targets 
 during their bombing raids.     2m 
 
2 One from: heavy black-out curtains/ paint/ 
 lights switched off/dimmed lights.    2m 
 
3 Yes = 1m Reason = 1m/ 
 no = 1m Reason = 1m/ 
 One valid reason (with yes/no implied) = 2m   (1+1) = 2m 
 
4 Two relevant statements.     (3+3) = 6m 
 



 
 
 
 
 
QUESTION 4       (24 marks) 
 
(A) THE DEVELOPED WORLD  - RURAL   (8 marks) 
 
1 43km        1m 
 
2 26km        1m 
 
3 One valid reason.      2m 
 
4 Two valid reasons.      (1+1) = 2m 
 
5 Yes = 1m Reason = 1m/ 
 No = 1m Reason = 1m/ 
 One valid reason = 2m     (1+1) = 2m 
 
 
(B) THE DEVELOPED WORLD –URBAN   (8 marks) 
 
1 3.5km        1m 
 
2  Urban        1m 
 
3 One valid explanation e.g. part of a city/ 
 place to live/ edge of a city/in the city/ etc.   2m 
 
4 Two valid problems.      (1+1) = 2m 
 
5 Yes = 1m Reason = 1m 
 No = 1m Reason = 1m 
 One valid reason (with yes/no implied). = 2m   2m 
 
 
 
(C) A DIVIDED WORLD     (8marks) 
 
1 59.60        1m 
 
2  31.10        1m 
 
3 2.40        1m 



 
4 One valid reason: they have to come from Asia  
 or Latin America/they come from far away/ 
 they come by ship/etc.      2m 
5 One valid reason.      3m 
QUESTION 5       (24 marks) 
 
1 Belgooly River      2m 
 
2 R600        2m 
 
3 One from R604/R605/R606/R607/R611   2m 
 
4 Two        2m 
 
5 Any two pieces of evidence e.g.standing stone/ 
 graveyard/burial ground/fulachtai fia/fortified  
 house/priory/boulder burial/Holy Well/church/ 
 ringfort/Hangman’s Point/etc.    (2+2) = 4m 
 
6 Two valid sporting or leisure activities: 
 e.g. water sports/sunbathing/fishing/ 
 golf/walking/historical sites/shopping/ 
 tennis courts/etc.      (2+2) = 4m 
 
7 Church/etc.       2m 
 
8 New = 1m.  Reason =1m     2m 
 Old = 1m.  Reason = 1m 
9 Two types of boat e.g. yachts/fishing boats/ 
 pleasure boats/etc = 2 
 Or One type of boat with any extra information  
 as a description/etc.      (2+2) = 4m   
  
    
  
 
 


